Accessories for Factory Frames

X = ' = :
i -
‘7 /, . 7 ‘ ( z Part Number [MDMaterial Bsurface Treatment
7 ¢ < | i -
# ¥ \ Co Part Number| _[[JMaterial | [JSurface Treatment ’ - FFS201 EN 1.0330 Equiv.
o 4 e ren » 3 ) Leveling Mount: N 1.0038 Equiv. | Trivalent Chromat
<« - _ EFS101 | £ 1.0330 Equiv. | Trivalent Chromate ~ - A } : FRs202-12 | |
FFS103 | Polyethylene } . ( !E ) T FFS203-g | Main Body: Polyethylene -
FFS107 | Polypropylene B Nut: EN 1.0038 Equiv. | Trivalent Chromate
[lSaddles with One Fixing [l Saddles with Two Fixings Minner Cap Il Panel Holder lPipe Stands M Adjusting Bolt Set Hinsert Nut M8
FFS101 (Setof 4) FFS102 (Setof 4) FFS103 (Set of 4)(Applicable Frame: FFA28) FFS107 FFS201 FFS202-12 (Applicable Frame: FFA28) FFS203-8 (Applicable Frame: FFA28)
76 > A e
2 g L
5‘ 5 5 03 M5 = 5 ”
26
12
LA ] ‘ 144
~ | o ] ~
3 HIIE g 5 | g HH
N .l R P ; TV
E _"_ : ™| f
St 107
U Arrow View A

(®Screw is not included.

Mass 0
(R ImEy (9/pc.) (e P i) Lz itz l ! Example Part Number M(;?s Unit Price Example
FFS101 iy 4 FFS201 320 FFA28 (P.880) ¢ FrAz8 (R880) [ FFA28 (P880)
FFS102 24 4 FFS202-12 264 .
FFS103 d : FFS203-8 15 FFS202-12
FFS107 8 1 2 FFS203-8
(®Please note the quantity when ordering per package. Ordering MSST3-6 (R211) - / NFING-50
Ordering B2 Example  FFs202-12 / FFS201 2/ (P8s?)
Bample  Frsi0q i FFA28 (P880) 5 ¥
ATBD (P937) > . -~ eEn ) S
FFS101 Alterations' FFS201 - SET
(®Applicable to FFS201 only.
FFS102 Alteration Code Spec.
Set Screw SET | 2 set screws (M3-6) come with FFS201 as a set.
o L) 4 N\
B Y
£ ’ ‘ (N £ @ S}
&) — S ~~ _PartNumber | [[JMaterial _|[JSurface Treatment ) Part Number Material Surface Treatment
> - ‘ —— FFS104 | EN 1.4301 Equiv. B FFS203-12 | EN 1.1191 Equiv.
- i \ FFS105 _ |ENAW-6063 Equiv.| _Clear Anodize i FFS204 Polychloroprene -
FFS106 EN 1.0038 Equiv. | Chrome Plating a3/ FFS205 EN AC-46100 Equiv.
B Conductive Plate I Clamp for Factory Frame HRing Slider Minsert Nut M12 lRubber Foot lClamp for Factory Frame
FFS104 (Set of 50) FFS105 FFS106 (Set of 10) FFS203-12 (Applicable Frame: FFA28) FFS204 (Applicable Frame: FFA28) FFS205
50
34 7 43 30
12 8 M5 ] ) 6.6 11 Oi
R e 2 M5 Screw
<~ S — © el o8
@ o 2055 [0~ - I g ] d
I, = — G AER
N% 67l [ 25| o 17|20 ) R Nl &}
S [ ‘ 37 [ IR ,
60 2-05
(®By inserting in between the frame tube and the M5 Nut
joint, it scrapes the anodized surface to gain Ac - Hex Socket Head Cap S M5-20 x 1 M5 Nut x 1
electrical continuity. (See the App. Examples below.) Y Accessory: Hex Socket Head Cap Screw M5-22 x 1 pc. 3 Accessory: Hex Socket Head Cap Screw x10e, uixdpe.
Part Number M(STS Unit Price ex Example
Part Number (gl/:scs) Pcs. per Pkg. Unit Price l ! Example FFS203-12 30
FFS104 1 50 > FFS204 18 § FFA28 (P.880)
FFS105 70 1 FFS106 FFS205 80 1
FFS106 14 10 FFS203-12 T
(®Please note the quantity when ordering per package. .g;::::g £ /FF $301.507 P888) @ JF '}
N -50- d Iy
Ordering 2 1 /
Example  FES104 S CBM5-18 (R751
o W w’ = HFS8-4590 (P683)
\?}j \_FFS104 HFS6-3030 (P571)

HNTT8-5 (R715)



